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‘Worksheet June 1 Trigonometry Summer A 2016

1. (a) Use the Euler formula to obtain formulas for cos(e — ) and sin(a ~ ).
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(b) Use the formulas you found in part (a) to find a formula for tan(a — ) in terms of tan o and tan 3.
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(c) Find the exact value of the expression cos(55°) cos(10°) + sin(55°) sin(10°).
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3. (a) Use half-angle formulds to find the exact %ue of sin
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(b) Use half-angle formulas to find the exact values of Sm(—g—), cos(3F), tan(3F).
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4. Find an identity for cos(46) in terms of cos(d).
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